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1. INTRODUCTION

The basic equation underlying the income statement is: Revenue _ Expense _ Net income. 
2. COMPONENTS AND FORMAT OF THE INCOME STATEMENT

 Revenue refers to amounts charged for the delivery of goods or services in the ordinary activities of a business. 

Net income also includes gains and losses, which are asset inflows and outflows, respectively, not directly related to the ordinary activities of the business. 
In addition to presenting the net income, income statements also present subtotals that are significant to users of financial statements. 
International Accounting Standard (IAS) No. 1, Presentation of Financial Statements, requires that certain items, such as revenue, finance costs, and tax expense, be separately stated on the face of the income statement. 
IAS No. 1 states that expenses may be grouped together either by their nature or function. For example, grouping together expenses such as depreciation on manufacturing equipment and depreciation on administrative facilities into a single line item called depreciation represents a grouping by nature of the expense. An example of grouping by function would be grouping together expenses into a category such as cost of goods sold, which would include some salaries (e.g., salespeople ’ s), material costs, depreciation, and other direct sales - related expenses. 
One subtotal often shown in an income statement is gross profit  (or, synonymously, gross margin ). When an income statement shows a gross profit subtotal, it is said to use a multi - step format rather than a single - step format.. 
Another important subtotal shown on the income statement is operating profit (or, synonymously, operating income). Operating profit further deducts operating expenses such as selling, general, administrative, and research and development expenses. Operating profit reflects a company’s profit s on its usual business activities before deducting taxes. 
3. REVENUE RECOGNITIONالاعتراف بالايراد 
Revenue is the top line in an income statement, so we begin the discussion with revenue recognition. A first task is to explain some relevant accounting terminology. 
Income is increases in economic benef ts during the accounting period in the form of inf ows or enhancements of assets or decreases of liabilities that result in increases in equity, other than those relating to contributions from equity participants. 
In a simple hypothetical scenario, revenue recognition would not be an issue. For instance, a company sells goods to a buyer for cash with no returns allowed: When should the company recognize revenue? In this instance, it is clear that revenue should be recognized when the exchange of goods for cash takes place. In practice, however, determining when revenue should be recognized can be somewhat more complex for a number of reasons discussed in the following sections.

3.1. General Principles
An important concept concerning revenue recognition is that it can occur independently of cash movements. For example, assume a company sells goods to a buyer on credit and so does not actually receive cash until some later time. A fundamental principle of accrual accounting is that revenue is recognized when it is earned, so the company ’ s financial  records reflect the sale when it is made and a related accounts receivable is created. Later, when cash changes hands, the company’s financial records simply reflect that cash has been received to settle an account receivable. Similarly, there are situations when a company receives cash upfront and actually delivers the product or service later, perhaps over a period of time. In this case, the company would record unearned revenue, which is then recognized as being earned over time. The basic revenue recognition principles promulgated by accounting regulators deal with the definition of “earned.” 
The Financial Accounting Standards Board (FASB) 11 specifi es that revenue should be recognized when it is “realized or realizable and earned.” The U.S. Securities and Exchange Commission (SEC), motivated in part because of the frequency with which overstating revenue occurs in connection with fraud and/or misstatements, provides guidance on how to apply the accounting principles. This guidance names four criteria to determine when revenue is realized or realizable and earned:

Companies must disclose their revenue recognition policies in the footnotes to their financial statements. Analysts should review these policies carefully to understand how and when a company recognizes revenue, which may differ depending upon the types of product sold and services rendered.

The topic of revenue recognition remains important, and new challenges have evolved, particularly in areas of e - commerce and services such as software development. Standard setters continue to evaluate current revenue recognition standards and issue new guidance periodically to deal with new types of transactions. Additionally, there are occasional special cases for revenue recognition, as discussed in the next section.
3.2. Revenue Recognition in Special Cases
The following sections discuss revenue recognition in the case of long - term contracts, installment sales, and barter.

3.2.1. Long - Term Contracts العقود طويلة الاجل 
A long - term contract is one that spans a number of accounting periods. Such contracts raise issues in determining when the earnings process has been completed.
As stated in IAS No. 18 regarding the rendering of services: 
The recognition of revenue by reference to the stage of completion of a transaction is often referred to as the percentage - of - completion method. Under this method, revenue is recognized in the accounting periods in which the services are rendered. The recognition of revenue on this basis provides useful information on the extent of service activity and performance during a period. IAS 11 Construction Contracts also requires the recognition of revenue on this basis. The requirements of that Standard are generally applicable to the recognition of revenue and the associated expenses for a transaction involving the rendering of services. 
As noted in IAS No. 18, construction contracts are another example of contracts that may span a number of accounting periods. IAS No. 11 provides that when the outcome of a construction contract can be measured reliably, revenue and expenses should be recognized in reference to the stage of completion. U.S. generally accepted accounting principles (U.S. GAAP) have a similar requirement. In both cases, the percentage - of - completion method of accounting is used. Under the percentage - of - completion method, in each accounting period, the company estimates, what percentage of the contract is complete and then reports that percentage of the total contract revenue in its income statement. Contract costs for the period are expensed against the revenue. Therefore, net income or profit is reported each year as work is performed.

Under IAS No. 11, if the outcome of the contract cannot be measured reliably, then revenue is only reported to the extent of contract costs incurred (if it is probable the costs will be recovered). Costs are expensed in the period incurred. Under this method, no profit would be reported until completion of the contract. Under U.S. GAAP, a different method is used when the outcome cannot be measured reliably, termed the completed contract method. Under the completed contract method, the company does not report any revenue until the contract is finished. Under U.S. GAAP, the completed contract method is also appropriate when the contract is not a long - term contract. Note, however, that when a contract is started and completed in the same period, there is no difference between the percentage - of - completion and completed contract methods.

Contracts: Percentage-of-Completion Method

Stelle Technology has a contract to build a network for a customer for a total sales price of $10 million. The network will take an estimated three years to build, and total building costs are estimated to be $6 million. Stelle recognizes long-term contract revenue using the percentage-of-completion method and estimates percentage complete based on expenditure incurred as a percentage of total estimated expenditures.

1. At the end of Year 1, the company has spent $3 million. Total costs to complete are estimated to be another $3 million. How much revenue will Stelle recognize in Year 1?

2. At the end of Year 2, the company has spent $5.4 million. Total costs to complete are estimated to be another $0.6 million. How much revenue will Stelle recognize in Year 2?

3. At the end of Year 3, the contract is complete. The company spent a total of $6 million. How much revenue will Stelle recognize in Year 3?

Solution to 1. Stelle has spent 50 percent of the total project costs ($3 million divided by $6 million), so in Year 1, the company will recognize 50 percent of the total contract revenue (i.e., $5 million).

Solution to 2. Because Stelle has spent 90 percent of the total project costs ($5.4 million divided by $6 million), by the end of Year 2, it will need to have recognized 90 percent of the total contract revenue (i.e., $9 million). Stelle has already recognized $5 million of revenue in Year 1, so in Year 2, the company will recognize $4 million revenue ($9 million minus $5 million).

Solution to 3. Because Stelle has spent 100 percent of the total project costs, by the end of Year 3, it will need to have recognized 100 percent of the total contract revenue (i.e., $10 million). Stelle had already recognized $9 million of revenue by the end of Year 2, so in Year 3, the company will recognize $1 million revenue ($10 million minus $9 million).

Year 1

 Year 2 

Year 3 

Total

Revenue

 $5 million
 $4 million
 $1 million
 $10 million

3.2.2. Installment Sales مبيعات على اقساط 
As noted above, revenue is normally reported when goods are delivered or services are rendered, independent of the period in which cash payments for those goods or services are received. This principle applies even to installment sales — sales in which proceeds are to be paid in installments over an extended period. Under limited circumstances, recognition of revenue or profit may be required to be deferred for some installment sales 
Two methods may be appropriate in these limited circumstances and relate to the amount of profit to be recognized each year from the transaction: the installment method البيع بالاقساطand the cost recovery method التكلفة المغطاة(المعوضة) . Under the installment method, the portion of the total profit of the sale that is recognized in each period is determined by the percentage of the total sales price for which the seller has received cash. 
Under the cost recovery method, the seller does not report any profit  until the cash amounts paid by the buyer — including principal and interest on any financing from the seller — are greater than all the seller ’ s costs of the property. Installment sales and cost recovery treatment of revenue recognition are rare for financial reporting purposes, especially for assets other than real estate. IAS No. 18 provides that installment sales other than real estate generally require revenue to be recognized at the time of sale; however, it further provides that the guidance found in IAS No. 18 must be considered in light of local laws regarding the sale of goods in a particular country.

EXAMPLE: The Installment and Cost Recovery Methods of Revenue Recognition
Assume the total sales price and cost of a property are $2,000,000 and $1,100,000, respectively, so that the total profit to be recognized is $900,000. The amount of cash received by the seller as a down payment is $300,000, with the remainder of the sales price to be received over a 10-year period. It has been determined that there is significant doubt about the ability and commitment of the buyer to complete all payments. How much profit will be recognized attributable to the down payment if:

1. The installment method is used?

2. The cost recovery method is used?

Solution to 1. The installment method apportions the cash receipt between cost recovered and profit using the ratio of profit to sales value; here, this ratio equals $900,000 / $2,000,000 = 0.45 or 45 percent. Therefore, the seller will recognize the following profit attributable to the down payment: 45 percent of $300,000 = $135,000.

Solution to 2. Under the cost recovery method of revenue recognition, the company would not recognize any profit attributable to the down payment because the cash amounts paid by the buyer still do not exceed the cost of $1,100,000.

3.2.3. Barter البيع بالتبادل 
Revenue recognition issues related to barter transactions became particularly important as e - commerce developed. As an example, if Company A exchanges advertising space for computer equipment from Company B but no cash changes hands, can Company A and B both report revenue? Such an exchange is referred to as a barter transaction. An even more challenging revenue recognition issue evolved from barter transactions —round - trip transactions. As an example, if Company A sells advertising services (or energy contracts, or commodities) to Company B and almost simultaneously buys an almost identical product from Company B, can Company A report revenue at the fair value of the product sold? Because the company ’ s revenue would be approximately equal to its expense, the net effect of the transaction would have no impact on net income or cash flow. However, the amount of revenue reported would be higher, and the amount of revenue can be important to a company’s valuation. In the earlier stages of e - commerce, for example, some equity valuations were based on sales (because many early Internet companies reported no net income).

Under IFRS, revenue from barter transactions must be measured based on the fair value of revenue from similar nonbarter transactions with unrelated parties (parties other than the barter partner). 16 Similarly, the FASB states that revenue can be recognized at fair value only if a company has historically received cash payments for such services and can thus use this historical experience as a basis for determining fair value. 
.

4. EXPENSE RECOGNITIONالاعتراف بالمصروف 
Expenses are deducted against revenue to arrive at a company’s net profit or loss. Under the IASB Framework, expenses are “decreases in economic benefits during the accounting period in the form of outflows or depletions of assets or incurrence of liabilities that result in decreases in equity, other than those relating to distributions to equity participants.” The IASB Framework also states:

4.1. General Principles

In general, a company recognizes expenses in the period that it consumes (i.e., uses up) the economic benefits associated with the expenditure, or loses some previously recognized economic benefit. A general principle of expense recognition is the matching principle, also known as the “matching of costs with revenues. ” . Under the matching principle, a company directly matches some expenses (e.g., cost of goods sold) with associated revenues.
The matching principle requires that the company match the cost of goods sold with the revenues of the period. Period costs, expenditures that less directly match the timing of revenues, are reflected in the period when a company makes the expenditure or incurs the liability to pay. Administrative expenses are an example of period costs. Other expenditures that also less directly match the timing of revenues relate more directly to future expected benefits; in this case, the expenditures are allocated systematically with the passage of time. 

4.2. Issues in Expense Recognition

The following sections cover applications of the principles of expense recognition to certain common situations.

4.2.1. Doubtful Accounts الحسابات المشكوك في تحصيلها
When a company sells its products or services on credit, it is likely that some customers will ultimately default on their obligations (i.e., fail to pay). At the time of the sale, it is not known which customer will default. (If it were known that a particular customer would ultimately default, presumably a company would not sell on credit to that customer.) One possible approach to recognizing credit losses on customer receivables would be for the company to wait until such time as a customer defaulted and only then recognize the loss ( direct write - off method ). Such an approach would usually not be consistent with generally accepted accounting principles. Under the matching principle, at the time revenue is recognized on a sale, a company is required to record an estimate of how much of the revenue will ultimately be uncollectible. Companies make such estimates based on previous experience with uncollectible accounts. Such estimates may be expressed as a proportion of the overall amount of sales, the overall amount of receivables, or the amount of receivables overdue by a specific amount of time. The company records its estimate of uncollectible amounts as an expense on the income statement, not as a direct reduction of revenues.

4.2.2. Warrantiesالكفالات او الضمانات  
At times, companies offer warranties on the products they sell. If the product proves deficient in some respect that is covered under the terms of the warranty, the company will incur an expense to repair or replace the product. At the time of sale, the company does not know the amount of future expenses it will incur in connection with its warranties. One possible approach would be for a company to wait until actual expenses are incurred under the warranty and to reflect the expense at that time. However, this would not result in a matching of the expense with the associated revenue. Under the matching principle, a company is required to estimate the amount of future expenses resulting from its warranties, to recognize an estimated warranty expense in the period of the sale, and to update the expense as indicated by experience over the life of the warranty.

4.2.3. Depreciation and Amortization الاستهلاك والاطفاء 
Companies commonly incur costs to obtain long - lived assets. Long - lived assets are assets expected to provide economic benefits over a future period of time greater than one year. Examples are land (property), plant, equipment, and intangible assets (assets lacking physical substance) such as trademarks. The costs of most long - lived assets are allocated over the period of time during which they provide economic benefits. The two main types of long - lived assets whose costs are not allocated over time are land and those intangible assets with indefinite useful lives. Depreciation is the process of systematically allocating costs of long - lived assets over the period during which the assets are expected to provide economic benefits. Depreciation is the term commonly applied to this process for physical long - lived assets such as plant and equipment (land is not depreciated), and amortization is the term commonly applied to this process for intangible long - lived assets with a finite useful life.  
4.3. Implications for Financial Analysis 
A company’s estimates for doubtful accounts and/or for warranty expenses can affect its reported net income. Similarly, a company ’ s choice of depreciation or amortization method, estimates of assets ’ useful lives, and estimates of assets ’ residual values can affect reported net income. These are only a few of the choices and estimates that affect a company’s reported net income. As with revenue recognition policies, a company’s choice of expense recognition can be characterized by its relative conservatism. A policy that results in recognition of expenses later rather than sooner is considered less conservative. In addition, many items of expense require the company to make estimates that can significantly affect net income. Analysis of a company’s financial statements, and particularly comparison of one company’s financial statements with those of another, requires an understanding of differences in these estimates and their potential impact. If, for example, a company shows a significant year - to - year change in its estimates of uncollectible accounts as a percentage of sales, warranty expenses as percentage of sales, or estimated useful lives of assets, the analyst should seek to understand the underlying reasons. 
5. NONRECURRING ITEMS AND NONOPERATING ITEMS

5.1. Discontinued Operations عمليات غير مستمرة 
When a company disposes of or establishes a plan to dispose of one of its component operations and will have no further involvement in the operation, the income statement reports separately the effect of this disposal as a “discontinued” operation under both IFRS and U.S. GAAP. Financial standards provide various criteria for reporting the effect separately, which are generally that the discontinued component must be separable both physically and operationally. 
5.2. Extraordinary Items العمليات غير المتكررة او نادرة الحدوث 
IAS No. 1 prohibits classification of any income or expense items as being “extraordinary". Under U.S. GAAP, an extraordinary item is one that is both unusual in nature and infrequent in occurrence. Extraordinary items are presented separately on the income statement and allow a reader of the statements to see that these items are not part of a company ’ s operating activities and are not expected to occur on an ongoing basis. Extraordinary items are shown net of tax and appear on the income statement below discontinued operations. Determining whether an item is infrequent in occurrence is based on expectations of whether it will occur again in the near future.

5.3. Unusual or Infrequent Items عمليات غير معتادة يتم الافصاح عنها في بند خاص ضمن النشاط العادي 
Items that do not meet the definition of extraordinary are shown as part of a company’s continuing operations. Items that are unusual or infrequent — but not both — cannot be shown as extraordinary. For example, restructuring charges, such as costs to close plants and employee termination costs, are considered part of a company ’ s ordinary activities. As another example, gains and losses arising when a company sells an asset or part of a business for more or less than its carrying value are also disclosed separately on the income statement but are not considered extraordinary because such sales are considered ordinary business activities.
5.4. Changes in Accounting Standards

At times, standard setters issue new pronouncements that require companies to change accounting principles. In other cases, changes in accounting principles (e.g., from one acceptable inventory costing method to another) are made for other reasons, such as providing a better reflection of the company’s performance. Changes in accounting principles are reported through retrospective application,  unless it is impractical to do so. Retrospective application means that the financial statements for all fiscal years shown in a company’s financial report are presented as if the newly adopted accounting principle had been used throughout the entire period. Footnotes to the financial statements describe the change and explain the justification for the change. 
In contrast to changes in accounting policies (such as whether to expense the cost of employee stock options), companies sometimes make changes in accounting estimates (such as the useful life of a depreciable asset). Changes in accounting estimates are handled prospectively, with the change affecting the financial statements for the period of change and future periods.  No adjustments are made to prior statements, and the adjustment is not shown on the face of the income statement. Significant changes should be disclosed in the footnotes.

5.5. Nonoperating Items: Investing and Financing Activities

Nonoperating items are reported separately from operating income. For example, if a nonfinancial service company invests in equity or debt securities issued by another company, any interest, dividends, or profit s from sales of these securities will be shown as nonoperating income. 
6. EARNINGS PER SHARE

One metric of particular importance to an equity investor is earnings per share (EPS). EPS is an input into ratios such as the price/earnings ratio. A presentation of EPS, therefore, enables each shareholder to compute his or her share of the company’s earnings. Under IFRS, IAS No. 33, Earnings per Share, requires the presentation of EPS on the face of the income statement for net profit or loss (net income) and profit or loss (income) from continuing operations. Similar presentation is required under U.S. GAAP by Financial Accounting Statement No. 128, Earnings per Share.
6.1. Simple versus Complex Capital Structure

A company’s capital is composed of its equity and debt. Some types of equity have preference over others, and some debt (and other instruments) may be converted into equity. Under IFRS, the type of equity for which EPS is presented is ordinary shares. Ordinary shares are those equity shares that are subordinate to all other types of equity. This is the basic ownership of the company — the equity holders who are paid last in a liquidation of the company and who benefit the most when the company does well. Under U.S. GAAP, this equity is referred to as common stock or common shares, reflecting U.S. language usage. The terms ordinary shares, common stock, and common shares are used equivalently in the remaining discussion. When a company has any securities that are potentially convertible into common stock, it is said to have a complex capital structure. Specific examples of securities that are potentially convertible into common stock include convertible bonds, convertible preferred stock, employee stock options, and warrants.The EPS that would result if all dilutive securities were converted is called diluted EPS. In contrast, basic EPS is calculated using the actual earnings available to common stock and the weighted average number of shares outstanding. Companies are required to report both their basic EPS and their diluted EPS. 

6.2. Basic EPS

Basic EPS is the amount of income available to common shareholders divided by the weighted average number of common shares outstanding over a period. The amount of income available to common shareholders is the amount of net income remaining after preferred dividends (if any) have been paid. Thus, the formula to calculate basic EPS is:

Basic EPS = 
 Net   income– Preferred dividends                        
Weighted average number of shares outstanding

The weighted average number of shares outstanding is a time weighting of common shares outstanding, and the methodology applies to calculating diluted EPS.
As an example, assume a company began the year with 2,000,000 shares outstanding and repurchased 100,000 shares on 1 July. The weighted average number of shares outstanding would be the sum of (2,000,000 shares X 1/2 year + 1,900,000 shares X 1/2 year), or 1,950,000 shares. So, the company would use 1,950,000 shares in calculating its basic EPS. If the number of shares of common stock increases as a result of a stock dividend, stock bonus, or a stock split (all three represent the receipt of additional shares by existing shareholders), the EPS calculation reflects the change retroactively to the beginning of the period. 
EXAMPLE 4-13 A Basic EPS Calculation (1)

For the year ended 31 December 2006, Shopalot Company had net income of $1,950,000. The company had an average of 1,500,000 shares of common stock outstanding, no preferred stock, and no convertible securities. What was Shopalot’s basic EPS? 
Solution. Shopalot’s basic EPS was $1.30, calculated as $1,950,000 divided by 1,500,000 shares.

EXAMPLE 4-14 A Basic EPS Calculation (2)

For the year ended 31 December 2006, Angler Products had net income of $2,500,000. The company declared and paid $200,000 of dividends on preferred stock. The company also had the following common stock share information:

Shares outstanding on 1 January 2006


 1,000,000

Shares issued on 1 April 2006 


 200,000

Shares repurchased (treasury shares) on 1 October 2006 
 (100,000)
Shares outstanding on 31 December 2006

 1,100,000

1. What is the company’s weighted average number of shares outstanding?

2. What is the company’s basic EPS?

Solution to 1. The weighted average number of shares outstanding is determined by the length of time each quantity of shares was outstanding:

1,000,000 x (3 months/12 months) = 250,000

1,200,000 x (6 months/12 months) = 600,000

1,100,000 x (3 months/12 months) = 275,000
Weighted average number of shares outstanding        1,125,000

Solution to 2. Basic EPS is (Net income – Preferred dividends)/Weighted average number of shares _ ($2,500,000 - $200,000)/1,125,000 = $2.04

EXAMPLE 4-15 A Basic EPS Calculation (3)

Assume the same facts as in Example 4-14 except that on 1 December 2006, the company institutes a two-for-one stock split. Each shareholder receives two shares in exchange for each current share that he or she owns. What is the company’s basic EPS? 

Solution. For EPS calculation purposes, a stock split is treated as if it occurred at the beginning of the period. The weighted average number of shares would, therefore, be 2,250,000, and the basic EPS would be $1.02.

6.3. Diluted EPS

If a company has a simple capital structure (i.e., one with no potentially dilutive securities), then its basic EPS is equal to its diluted EPS. If, however, a company has dilutive securities, its diluted EPS is lower than its basic EPS. The sections below describe the effects of three types of potentially dilutive securities: convertible preferred, convertible debt, and employee stock options.

6.3.1. Diluted EPS When a Company Has Convertible Preferred Stock Outstanding. When a company has convertible preferred stock outstanding, diluted EPS is calculated using the if - converted method (i.e., what EPS would have been if the convertible preferred securities had been converted at the beginning of the period). What would have been the effect if the securities had been converted? If the convertible preferred securities had converted, these securities would no longer be outstanding; instead, additional common stock would be outstanding. Therefore, if such a conversion had taken place, the company would not have paid preferred dividends and would have had more shares of common stock.

The diluted EPS using the if - converted method for convertible preferred stock is equal to the amount of net income divided by the weighted average number of shares outstanding plus the new shares of common stock that would be issued upon conversion of the preferred. Thus, the formula to calculate diluted EPS using the if - converted method for preferred stock is:

Diluted EPS = (Net income)/(Weighted average number of shares outstanding + New common shares that would have been issued at conversion)  
A diluted EPS calculation using the if-converted method for preferred stock is provided in Example 4 - 16.

6.3.2. Diluted EPS When a Company Has Convertible Debt Outstanding

When a company has convertible debt outstanding, the diluted EPS calculation is similar to the calculation for convertible preferred: Diluted EPS is calculated using the if – converted method (i.e., what EPS would have been if the convertible debt had been converted at the beginning of the period). If the convertible debt had been converted, the debt securities would no longer be outstanding; instead, additional common stock would be outstanding. Therefore, if such a conversion had taken place, the company would not have paid interest on the convertible debt and would have had more shares of common stock. To calculate diluted EPS using the if - converted method for convertible debt, the amount of net income available to common shareholders must be increased by the amount of after – tax interest related to the convertible debt. In addition, the weighted average number of shares in the denominator increases by the number of new shares of common stock that would be issued upon conversion of the convertible debt. Thus, the formula to calculate diluted EPS using the if - converted method for convertible debt is:

Diluted EPS = (Net income +After-tax interest on convertible debt – Preferred dividends)/(Weighted 

shares outstanding + New common shares that could  have been issued at conversion) 
A diluted EPS calculation using the if - converted method for convertible debt is provided  in Example 4 - 17.

EXAMPLE 4-16 A Diluted EPS Calculation Using the If-Converted Method for Preferred Stock

For the year ended 31 December 2006, Bright-Warm Utility Company had net income of $1,750,000. The company had an average of 500,000 shares of common stock outstanding, 20,000 shares of convertible preferred, and no other potentially dilutive securities. Each share of preferred pays a dividend of $10 per share, and each is convertible into five shares of the company’s common stock. Calculate the company’s basic and diluted EPS. 
Solution. If the 20,000 shares of convertible preferred had each converted into 5 shares of the company’s common stock, the company would have had an additional 100,000 shares of common stock (5 shares of common for each of the 20,000 shares of preferred). If the conversion had taken place, the company would not have paid preferred dividends of $200,000 ($10 per share for each of the 20,000 shares of preferred). As shown in Exhibit 4-9, the company’s basic EPS was $3.10 and its diluted EPS was $2.92.

 Calculation of Diluted EPS for Bright-Warm Utility Company

Using the If-Converted Method: Case of Preferred Stock

Basic EPS        
Diluted EPS Using If-Converted Method

Net income


 $1,750,000

 $1,750,000

Preferred dividend


 –200,000

 0

Numerator 


$1,550,000

 $1,750,000

Weighted average number of shares outstanding
 500,000 


500,000

If converted


 0 


100,000

Denominator


 500,000 


600,000

EPS



 $3.10


 $2.92

.

EXAMPLE 4-17 A Diluted EPS Calculation Using the If-Converted Method for Convertible Debt

Oppnox Company reported net income of $750,000 for the year ended 31 December 2005. The company had an average of 690,000 shares of common stock outstanding. In addition, the company has only one potentially dilutive security: $50,000 of 6 percent convertible bonds, convertible into a total of 10,000 shares. Assuming a tax rate of 30 percent, calculate Oppnox’s basic and diluted EPS. 
Solution. If the convertible debt had been converted, the debt securities would no longer be outstanding; instead, an additional 10,000 shares of common stock would be outstanding. Also, if such a conversion had taken place, the company would not have paid interest on the convertible debt of $3,000, equivalent to $3,000(1 – 0.30) _ $2,100 on an after-tax basis. To calculate diluted EPS using the if-converted method for convertible debt, the amount of net income available to common shareholders is increased by $2,100. Also, the weighted average number of shares in the denominator increases by 10,000 shares

Calculation of Diluted EPS for Oppnox Company

Using the If-Converted Method: Case of a Convertible Bond

Basic EPS
Diluted EPS Using If-Converted Method

Net income 

  $750,000

 $750,000

After-tax cost of interest 


                  2,100

Numerator

   $750,000
                  $752,100

Weighted average number of shares outstanding
   690,000 

690,000

If converted 

     0 

                10,000

Denominator 

   690,000 

700,000

EPS


    $1.09

                $1.07

6.3.3. Diluted EPS When a Company Has Stock Options, Warrants, or Their Equivalents Outstanding Under U.S. GAAP, when a company has stock options, warrants, or their equivalents outstanding, the diluted EPS is calculated using the treasury stock method (i.e., what EPS would have been if the options had been exercised and the company had used the proceeds to repurchase common stock). If the options had been exercised, the company would have received cash for the amount of the option exercise price. The options would no longer be outstanding; instead, additional common stock would be outstanding. Under the treasury stock method, a further calculation is made to adjust the number of shares outstanding by the number of shares that could have been purchased with the cash received upon exercise of the options. To calculate diluted EPS using the treasury stock method for options, the weighted average number of shares in the denominator increases by the number of new shares of common stock that would be issued upon exercise of the options minus the number of shares that could have been purchased with the cash received upon exercise of the options. No change is made to the numerator. Thus, the formula to calculate diluted EPS using the treasury stock method for options is Diluted EPS _ (Net income – Preferred dividends)/(Weighted average number of shares outstanding _ New shares that could have been issued at option exercise – Shares that could have been purchased with cash received upon exercise) (4-4)

A diluted EPS calculation using the treasury stock method for options is provided in Example 4 - 18.

EXAMPLE 4-18 A Diluted EPS Calculation Using the Treasury Stock Method for Options 
Hihotech Company reported net income of $2.3 million for the year ended 30 June 2005 and had an average of 800,000 common shares outstanding. The company has outstanding 30,000 options with an exercise price of $35 and no other potentially dilutive securities. Over the year, the company’s market price has averaged $55 per share. Calculate the company’s basic and diluted EPS.

Solution. Using the treasury stock method, we first calculate that the company would have received $1,050,000 ($35 for each of the 30,000 options exercised) if all the options had been exercised. The options would no longer be outstanding; instead, 30,000 new shares of common stock would be outstanding. Under the treasury stock method, we reduce the number of new shares by the number of shares that could have been purchased with the cash received upon exercise of the options. At an average market price of $55 per share, the $1,050,000 proceeds from option exercise could have purchased 19,091 shares of treasury stock. Therefore, the net new shares issued would have been 10,909 (calculated as 30,000 minus 19,091). No change is made to the numerator. As shown in Exhibit 4-11, the company’s basic EPS was $2.88 and the diluted EPS was $2.84.

EXHIBIT 4-11 Calculation of Diluted EPS for Hihotech Company 
                   Using the Treasury Stock Method: Case of Stock Options

                                Basic EPS               
    Diluted EPS Using Treasury Stock Method

Net income                             $2,300,000                                      $2,300,000

Numerator 
               $2,300,000 

        $2,300,000

Weighted average number of

Shares outstanding                    800,000                                           800,000
If converted

 0 


          10,909

Denominator 

800,000


          810,909

EPS


 $2.88                                                $2.84

Under IFRS, IAS No. 33 requires a similar computation but does not refer to it as the “ treasury stock method. ” The company is required to consider that any assumed proceeds are received from the issuance of new shares at the average market price for the period. These new “ inferred ” shares would be disregarded in the computation of diluted EPS, but the excess of the new shares issued under options contracts over the new “ inferred ” shares would be added into the weighted average number of shares outstanding. The results are similar to the treasury stock method, as shown in Example 4 - 19.

7. ANALYSIS OF THE INCOME STATEMENT

In this section, we apply two analytical tools to analyze the income statement: common – size analysis and income statement ratios. In analyzing the income statement, the objective is to assess a company ’ s performance over a period of time — compared with its own historical performance or to the performance of another company.

7.1. Common - Size Analysis of the Income Statement

Common - size analysis of the income statement can be performed by stating each line item on the income statement as a percentage of revenue.  Common - size statements facilitate comparison across time periods (time - series analysis) and across companies of different sizes (cross - sectional analysis).

EXHIBIT 4-13 Income Statements for Company A, B, and C

To illustrate, Panel A of Exhibit 4 - 13 presents an income statement for three hypothetical companies. Company A and Company B, each with $10 million in sales, are larger (as measured by sales) than Company C, which has only $2 million in sales. In addition, Companies A and B both have higher operating profit : $2 million and $1.5 million, respectively, compared with Company C ’ s operating profit  of only $400,000.

How can an analyst meaningfully compare the performance of these companies? By preparing a common - size income statement, as illustrated in Panel B, an analyst can readily see that the percentages of Company C ’ s expenses and profit  relative to its sales are exactly the same as for Company A. Furthermore, although Company C ’ s operating profit  is lower than Company B ’ s in absolute dollars, it is higher in percentage terms (20 percent for Company C compared with only 15 percent for Company B). For each $100 of sales, Company C generates $5 more operating profit than Company B. In other words, Company C is more profit able than Company B based on this measure. 
Vertical common - size analysis of the income statement is particularly useful in cross -sectional analysis — comparing companies with each other for a particular time period or comparing a company with industry or sector data. The analyst could select individual peer companies for comparison, use industry data from published sources, or compile data from databases based on a selection of peer companies or broader industry data. For example, Exhibit 4 - 14 presents common - size income statement data compiled for the components of the Standard & Poor ’ s 500 classified into the 10 S & P/MSCI Global Industrial Classification System (GICS) sectors using 2005 data. Note that when compiling aggregate data such as this, some level of aggregation is necessary and less detail may be available than from peer company financial  statements. The performance of an individual company can be compared with industry or peer company data to evaluate its relative performance.

7.2. Income Statement Ratios
One aspect of financial performance is profitability. One indicator of profitability is net profit  margin , also known as profit  margin and return on sales , which is calculated as net income divided by revenue (or sales). 
Net profit margin =
net income  
Revenue

Net profit margin measures the amount of income that a company was able to generate for each dollar of revenue. A higher level of net profit margin indicates higher profitability and is thus more desirable. 

To judge this ratio, some comparison is needed. Kraft ’ s profitability can be compared with that of another company or with its own previous performance. Compared with previous years, Kraft ’ s profitability has declined. In 2003, net profit margin was 11.1 percent, and in 2002, it was 11.3 percent. Another measure of profitability is the gross profit margin. Gross profit is calculated as revenue minus cost of goods sold, and the gross profit margin is calculated as the gross profit divided by revenue.

Gross profit margin = Gross profit /Revenue

The gross profit  margin measures the amount of gross profit  that a company generated for each dollar of revenue. A higher level of gross profit  margin indicates higher profit ability and thus is generally more desirable, although differences in gross profit  margins across companies reflect differences in companies ’ strategies. For example, consider a company pursuing a strategy of selling a differentiated product (e.g., a product differentiated based on brand name, quality, superior technology, or patent protection). The company would likely be able to sell the differentiated product at a higher price than a similar, but undifferentiated, product and, therefore, would likely show a higher gross profit margin than a company selling an undifferentiated product. Although a company selling a differentiated product would likely show a higher gross profit margin, this may take time. In the initial stage of the strategy, the company would likely incur costs to create a differentiated product, such as advertising or research and development, which would not be reflected in the gross margin calculation. Kraft ’ s gross profit  (shown in Exhibit 4 - 2) was $11,785 in 2002 and $11,887 in 2004. In other words, in absolute terms, Kraft ’ s gross profit  increased. However, expressing gross profit  as a percentage of net revenues, 40 it is apparent that Kraft ’ s gross profit  margin declined, as Exhibit 4 - 15 illustrates. From over 40 percent in 2002, Kraft ’ s profit  margin declined to 36.95 percent in 2004. The net profit margin and gross profit margin are just two of the many subtotals that can be generated from common - size income statements. Other margins used by analysts include the operating margin (operating income divided by revenue) and pretax margin (earnings before taxes divided by revenue).

EXHIBIT 4-15 Kraft’s Gross Profit Margin
	
	2004
	2003
	2002

	
	$millions
	%
	$millions
	%
	$millions
	%

	Revenues
	32,168
	100
	30,498
	100
	29,248
	100

	Cost of good sold
	20,281
	63.05
	18,531
	60.76
	17,463
	59.71

	Gross profit
	11,887
	36.95
	11,967
	39.24
	11,785
	40.29

	
	
	
	
	
	
	


8. COMPREHENSIVE INCOME

The general expression for net income is revenue minus expenses. There are, however, certain items of revenue and expense that, by accounting convention, are excluded from the net income calculation. To understand how reported shareholders ’ equity of one period links with reported shareholders ’ equity of the next period, we must understand these excluded items, known as other comprehensive income . Comprehensive income is defined as “ the change in equity [net assets] of a business enterprise during a period from transactions and other events and circumstances from no owner sources. It includes all changes in equity during a period except those resulting from investments by owners and distributions to owners. ” 41 So, comprehensive income includes both net income and other revenue and expense items that are excluded from the net income calculation (other comprehensive income). Assume, for example, a company ’ s beginning shareholders ’ equity is 110 million, its net income for the year is 10 million, its cash dividends for the year are 2 million, and there was no issuance or repurchase of common stock. If the company’ s actual ending shareholders ’ equity is 123 million, then 5 million [ 123 _ ( 110 _ 10 _ 2)] has bypassed the net income calculation by being classified as other comprehensive income. (If the company had no other comprehensive income, its

ending shareholders ’ equity would have been 118 million [ 110 _ 10 _ 2].)

In U.S. financial  statements, according to U.S. GAAP, four types of items are treated as other comprehensive income. Foreign currency translation adjustments. In consolidating the financial  statements of foreign subsidiaries, the effects of translating the subsidiaries ’ balance sheet assets and liabilities at current exchange rates are included as other comprehensive income. Unrealized gains or losses on derivatives contracts accounted for as hedges. Changes in the fair value of derivatives are recorded each period, but these changes in value for certain derivatives (those considered hedges) are treated as other comprehensive income and thus bypass the income statement.

Unrealized holding gains and losses on a certain category of investment securities, namely available - for - sale securities. Changes in the funded status of a company’s defined benefit postretirement plans. 
PRACTICE PROBLEMS

1. Expenses on the income statement may be grouped by

A. nature, but not by function.

B. function, but not by nature.

C. either function or nature.

2. An example of an expense classification by function is

A. tax expense.

B. interest expense.

C. cost of goods sold.

3. Denali Limited, a manufacturing company, had the following income statement information:

Revenue $4,000,000

Cost of goods sold $3,000,000

Other operating expenses $500,000

Interest expense $100,000

Tax expense $120,000

Denali ’ s gross profit  is equal to

A. $280,000.

B. $500,000.

C. $1,000,000.

4. Under IFRS, income includes increases in economic benefits from

A. increases in owners’ equity related to owners’ contributions.

B. increases in liabilities not related to owners’ contributions.

C. enhancements of assets not related to owners’ contributions.

5. Fairplay had the following information related to the sale of its products during 2006, which was its first year of business:

Revenue $1,000,000

Returns of goods sold $100,000

Cash collected $800,000

Cost of goods sold $700,000

Under the accrual basis of accounting, how much net revenue would be reported on Fairplay ’ s 2006 income statement?

A. $200,000

B. $800,000

C. $900,000

6. If the outcome of a long - term contract can be measured reliably, the preferred accounting

method under both IFRS and U.S. GAAP is

A. the installment method.

B. the completed contract method.

C. the percentage - of - completion method.

7. At the beginning of 2006, Florida Road Construction entered into a contract to build a road for the government. Construction will take four years. The following information as of 31 December 2006 is available for the contract: 
Total revenue according to contract $10,000,000

Total expected cost $8,000,000

Cost incurred during 2006 $1,200,000

Under the completed contract method, how much revenue will be reported in 2006?

A. None

B. $300,000

C. $1,500,000

8. During 2006, Argo Company sold 10 acres of prime commercial zoned land to a builder

for $5,000,000. The builder gave Argo a $1,000,000 down payment and will pay the

remaining balance of $4,000,000 to Argo in 2007. Argo purchased the land in 1999 for

$2,000,000. Using the installment method, how much profit will Argo report for 2006?

A. None

B. $600,000

C. $1,000,000
9. Using the same information as in Question 8, how much profit  will Argo report for 2006 by using the cost recovery method?

A. None

B. $1,000,000

C. $3,000,000

10. Under IFRS, revenue from barter transactions should be measured based on the fair value of revenue from

A. similar barter transactions with related parties.

B. similar barter transactions with unrelated parties.

C. similar nonbarter transactions with unrelated parties.

12. During 2007, Accent Toys Plc., which began business in October of that year, purchased 10,000 units of its most popular toy at a cost of £ 10 per unit in October. In anticipation of heavy December sales, Accent purchased 5,000 additional units in November at a cost of £ 11 per unit. During 2007, Accent sold 12,000 units at a price of £ 15 per unit. Under the first in, first out (FIFO) method, what is Accent ’ s cost of goods sold for 2007?

A. £ 105,000

B. £ 120,000

C. £ 122,000

13. Using the same information as in Question 12, what would Accent ’ s cost of goods sold be under the weighted average cost method?

A. £ 120,000

B. £ 122,000

C. £ 124,000

14. Which inventory method is least likely to be used under IFRS?

A. First in, first out (FIFO)

B. Last in, first out (LIFO)

C. Weighted average

15. At the beginning of 2007, Glass Manufacturing purchased a new machine for its assembly line at a cost of $600,000. The machine has an estimated useful life of 10 years and estimated residual value of $50,000. Under the straight - line method, how much depreciation would Glass take in 2008 for financial reporting purposes?

A. None

B. $55,000

C. $60,000

16. Using the same information as in Question 15, how much depreciation would Glass take

in 2007 for financial  reporting purposes under the double - declining balance method?

A. $60,000

B. $110,000

C. $120,000

17. Which combination of depreciation methods and useful lives is most conservative in the

year a depreciable asset is acquired?

A. Straight - line depreciation with a long useful life.

B. Straight - line depreciation with a short useful life.

C. Declining balance depreciation with a short useful life.

18. Under IFRS, a loss from the destruction of property in a fi re would most likely be

classifi ed as

A. continuing operations.

B. an extraordinary item.

C. discontinued operations.

19. For 2007, Flamingo Products had net income of $1,000,000. On 1 January 2007, there

were 1,000,000 shares outstanding. On 1 July 2007, the company issued 100,000 new

shares for $20 per share. The company paid $200,000 in dividends to common shareholders.

What is Flamingo ’ s basic earnings per share for 2007?

A. $0.73

B. $0.91

C. $0.95

20. Cell Services (CSI) had 1,000,000 average shares outstanding during all of 2007. During

2007, CSI also had 10,000 options outstanding with exercise prices of $10 each. The

average stock price of CSI during 2007 was $15. For purposes of computing diluted

earnings per share, how many shares would be used in the denominator?

A. 1,000,000

B. 1,003,333

C. 1,010,000

